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T sin x cos T tan =
43° 0.6820 0.7314 0.9325
44° 0.6947 0.7193 0.9657
45° 0.7071 0.7071 1.0000
46° 0.7193 0.6947 1,0355
47° 0.7314 0.6821 1.0724
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@ sind5° = cos45°
® tan35° < tand0°

© sin56° < cos56°
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I, AP =3cm,BP =9cm, CP =4cm
o o, DP | 2ol & Fsteie},

B e




22.

Oh-2 J1 3} o] & o]
€0 9] gole?

® 121x @ 144r

oA T

® 169r

o o,

@ 1967

® 2257



23. \/(COSA —sinA)? + \/(SinA +cosA)? = V2 & o, tanA & gr2?
(2, 0°<A<45°)

@2v2 @ V2 ® V3 @ 1 ® 0



24.

T 1" Zo] AE AB & AF2R oh W 2 AB 9]
VN VN

5.0ptAC : 5.0ptCB =1:3 ¢ H C & oA d C & A1 F4

O o4 AB 9} Hsl= ¢S 1™t} o] ¥o] d BC ¢ W= HE D

gty & ujj, ,.BOD 9] 27]5 stoiz=}

P
)



25.

ot 7elA A M-S 5.0ptAB o] F3 /\
o]1, AM = 9cm, MQ = 6cm ¥ o, A B

p

PQ o] Zol& Fatolat, ‘
9cm MQ

a = cm



